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tbr the questions.

fuiswer all the questions.

GROUP - A
l. (a) Select the correct answer. (any /ive) :

I x5:5
(i) An advant4ge of the database managemenr

approach is

(A) Data is dependent on programs

(B) Data redundancy increases

(C) Data is integrated and can be accessed by
multiple programs

(D) None of the above

(ii) In an ER model, 

- 

is descriUeO in tne
database by storing its data.

(A) Entity @) Attribute

(C) Relationship @) Notation
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(iii) keyvord is used to find the numbsr of
values in a column.

(A) TOrAL (B) COUNT

(c) ADD (D) SUM

(iv) Key used to represent relationship between

tables is called

(A) Primary key @) Secondary key

(C) Foreign key @) None of the above

(v) Which can be used to delete all the rows of a
table ?

(A) Delete*from table_name

@) Delete from table-nalne

(C) Delete table_naule

(D) All rows cannot be deleted at a time.

(vi) A dishibuted database is which of the
following ?

(A) A single logical database that is spread to
multiple locations and is interconnected
by a network.
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tB) A loose collection of file that is spread to
multiple locations and is interconnected
by a network.

(C) A single logical database that is limited
to one location.

(D) A loose collection of file that is limited
to one location.

(b) Fill up the blanks. (any rtv4: I x5-5

(i) DBMS is a collection of 

- 

that
enables user to create and maintain a
database.

(ii) The collection of information stored in a
database at a particular moment is called
as

(iii) A 

-- 
architecHre DBMS distributes

dda processing tasks between the
workststion and netryork sclver.

(iv) In tlre _;.-_ sormt forrA a composite
atrributCI is converted to individual
athibutes.

(v) A transaction that completes its execution
successfuliy is said to be

(vi) Storing a separate copy of the database
at multiple locations called
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(e) State true or f,alse" (any frve}: tx5=5

{i} Schema is the logical stnleture of the
database.

(ii) Tr: change colunul value in a table the
Insert SQL somm&nd can be used.

(iii) NULI- operator tes{s column for rhs
presence of data.

(iv,l Loek is piece of hardtvars assigned to a
data itern in a database"

(v) tligital Signature are used to proviele
authenticity of data.

(*'i) In homogeneous distributed darabase all
sites do not have identical datahase.

(d) Answer the following. (any ten): 1x10:10

(i) Define f)atabase.

(ii) What do you mean by Primary Key ?

(iii) What is a field of a database ?

(iv) What do you mean multi valued attribute ?

(v) Write the tull form of SQL.

(vi) \tr{hat is a View ?
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(vii) Give one exarnple of one to many

relationshiPt

(viii) What SQL co$rmand is used for finding

the maxirnurn values ?

(ix) Give the full form of BCNF'"

(x) What conrmand is used in order to undo

the work uft'uo*u'tion after last commit ?

(xi) What is a schedule ?

(xii) WhY Password is used ?

GROIJP - B

Z. Answer the following' (any five): 2x5:10

(a) Defure Data Model'

O) Define Data IndePendence'

(c) Write the syntan of SELECT command'

(d) What do You rnean bY DML and DDL ?

(e) What is a Data EncryPtion ?

(0 What is data fragmentation ?

3 Ansrver the following (any five) 
"

3x5:15

(a) \fr'rite briefly about users of DBMS'

O) Explain briefly the'fhree-schema architecture'
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(c) Write briefly about DBMS interfaces.

(d) Write briefly about Physical dara rnotiel"

(e) Define Second and Third normal fonns.

(0 WhatdoyourneanbyDeadlockanci Starvation ?

G) What is Authorization ?

Answer the following. (any tive): 4x5:20

(a) Write the advantages of using a Databaqe
Approach.

(b) Write briefly about the symbols used in
E-R diagram.

What is norrnalization ? \Ilhy is it necessary ?

Write briefly about ACID property of
transaction.

(e) Discuss briefly the Lost Update Problem and
Dirty Read Problem.

(0 What is two phase locking protocgl ? Discuss
briefly.

(g) What are the advantages of Distributed
Database ?

(c)

(d)

I
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